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B 7 ORE BH |2 BH MK |3 R #— | 4 BHEBZN |5 BH #HE |6 BHA E | 7 $FH FHth | & EH ED
50m Er &3l X2 |E5EH 3| EEH =2(Ah th2 EETH &2\ lnh &3k =1
24.22 24.88 25.14 25.23 25.74 25.81 26.12 26.17
S 7 BB ER |2 PR #— |9 BHAEZN |4 BK [E |5 B K |6 AFH BE | 7 Bh EHE | ¢ IK KK
100m | FE™ th2 | EETH &3 8Eh &2 | E2EH =2(hA = 1| E2| KB K1|F#EH =2
54.02 54.63 55.67 56.27 56.38 56.67 57.91 58.47
R 7 REA EE |2 BH RRK |9 B EE |4 FE OBRE |5 B K% |6 hF RS | 7 AH BE | ¢ #RE EFE
200m (WA B3| T f2 (A 2 [FK T =2(lam &1 | FEm w3 ([ FF B2 sEm A
AS¥ 15534 1:55.98 1:57.49 2:01.61 2:03.88 2:04.72 2:05.32 2:08.92
o 7 BA BE |2 WA KE |3 FEG BEE |4 i Fd |5 AME—H| 6 H FE | 7 K BiE | ¢ BRE EF
400m |WETH &3l &1 & &2 |FiH th3 |k 2| 5EH &3 |Erh &1 8EH (=1
4:07.13 4:08.81 4:15.30 4:19.57 4:23.67 4:27.39 4:30.60 4:31.52
& E 7 NEBA K¥E | 2 AFE-BR| 3 MK EBiE | ¢4 B BB |5 HEY FE
1500m |HOm a1m =2 |Amh =al=kx =1 |EEH =3
BE%  16:34.19 17:13.34 17:32.93 18:01.61 18:12.88
(800m) 8:43.24 9:08.51 9:15.59 9:30.00 9:32.01
s 7 EH - |2 ZEER EX |3 XKk BER |4 RE EM |5 K3H E
50m FER — % | B FF th3 | EAm™ th2 (BhFF th2 B RF 2
31.60 32.74 34.65 41.47 47.81
e 7 HFE EE |2 AKX B} |3 bE EZ |4 B ER |5 AKX BA |6 EM F=HE | 7 #ELU KE | § MAEKE
100m |AmT X1 |EEH &3l &1 |EfEh —#|EEH 3 | EETH th3 | FETH th2 | TR =1
1:01.11 1:01.84 1:03.58 1:04.06 1:04.29 1:05.59 1:05.63 1:06.22
e 7 O HEEH |2 BK @EF | HE X |4 NE FEZ |5 AU KXKE |6 BARK BA| 7 BF EFEHR | ¢ MAKEKER
200m |BET™ X1 |E5EH &3l 2| luOm &1|FEHh th2 EETH 3| Emth —f%| TR (=1
2:13.79 2:15.42 2:16.87 2:17.20 2:18.94 2:22.59 2:22.62 2:23.29
T 7R KA | 2 EH RF |3 KME RE |4 BAR BX |5 HEBEKXK |6 KA RE | 7 Sl Kth | & WK BEA
50m T} =3 |BmEm th3 O &3 Lam 2T 2 [BERF T th2 LT 3 [BERF T $3
31.78 34.06 34.51 35.86 36.14 36.16 37.64 38.24
T 7KW OBHE |2 BEARK A |3 KB UE |4 BHBHRR |5 PN KT |6 BEH & | 7 BHBHF ECD |8 H HE
100m | FE™H —f%| TR 2| 8EH B3| EHRm =3(Aah =3|A 2|k &1 8EH (=1
1:05.78 1:06.02 1:06.25 1:06.70 1:07.85 1:08.06 1:09.09 1:09.18
T 7OKH DS | 2 BA OAH |3 HB EE |4 EN EE |5 BB OE |6 M BE |7 BHBR | s #&® Rx
200m |EETM 3| FEH 2| FEH 1| TEH =3 =2 |5EH 1| EHh =3l =2
2:24.33 2:26.69 2:27.49 2:28.72 2:28.85 2:34.24 2:34.45 2:35.18
NETSA 7 OKH i | 2 E BH | 3 WRHF BER | 4 BB BN |5 XH BA | 6 EE MA | 7 BE& BX | & Al #X
50m FERH &3l &3l 3| KB =3 |k th2 [BhFF th2 (LA 2| EHh 3
28.76 28.85 29.16 29.22 29.65 29.89 29.91 31.01
NETSA 7ORE SR |2 MHE X |3 WMF —EF |4 BB #— |5 WEKXK-B| 6 oG |/t | 7 (B ERE | & BEA A
loom |Em Z3lLam AL =2 | T Fa3(lLOm S1|lwam Z3lLam &2 | R &3
54.98 58.75 59.62 59.71 59.82 1:00.60 1:01.30 1:02.03
NETS4 7 BKR KB |2 FHEEE |3 =H EE |4 BF —F |5 WEKXK—H| 6 HP EfT | 7 HE RK | & EAN RAE
200m |EFET =R =k =2 |5EH =1 |Amh =2/uAH =1 AW =3 |Amh 3| FERHT $3
2:06.40 2:12.79 2:14.46 2:16.04 2:16.29 2:18.34 2:19.32 2:19.59
EIARL— 7 BAR KB |2 KR FR |3 5 EW |4 BRER MFE |5 BB BE |6 WMFHXRAZ | 7 WX FRL | s BE KB
200m |BET &3k 2| 8EH &3O =1Aah th2 |[BhFF 2|k &3 | FEm 2
2:09.35 2:11.12 2:13.42 2:15.74 2:18.90 2:22.43 2:26.10 2:31.92
BAARL— | ] KR FR |2 = EW |3 BR MNFE |4 BERBE |5 #WFK A | 6 WA L | 7 hHE—K
400m | B2 |5EH =R =k =al=ks dh2 [BhfF T 2|k =3 |Amh =1
4:41.67 4:51.44 4:57.81 5:03.47 5:11.16 5:24.52 5:46.23
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588 1300 XfEEEh  FiFR:25°C 7ki8:28°C
R 7TOBHER |2 BRKBEK |3 BAMFW |4 WA #HId |5 fEHE BKXK |6 EE EE |7 TEH B | 8 MEEAH
50m B i 1 |FETH thi | TR thi | TR thi | TR i la ING | FRTH NG | FERTH 1
28.19 28.40 30.81 30.83 31.40 31.53 32.40 32.61
o 7OKEH ER |2 BEH EW |3 WA LK |4 kB A— |5 HE B |6 BN BEH |7 AT B | 8 GX F®
100m Fh AT 1| TR 1| FERH o1 |BFRF fi(lhOmh A NEL:D T =) 1| TR i1
1:01.21 1:01.69 1:02.37 1:04.28 1:05.28 1:05.31 1:06.54 1:07.94
R 7Kes K— |2 FEHB&|s BF A% |4 AF B |5 Bk BE |6 FHIMAK| 7 EE EE | & LR BF
200m  |BARETH LA 1 EAmT thi (LA &1 |ErT &1 |Erm thi LA N5 | FRET 1
2:17.80 2:18.13 2:20.78 2:23.68 2:23.82 2:24.79 2:32.22 2:36.40
o 7N BE | 2 BAR 2K |3 FH OKME |4 BE Ok |5 #B BHO |6 BFE M| 7 BR OEX |8 ®AK B
50m KEE [ AT INE=TE L fr1 [LES/MNEFET™ /s LA N5 L AT 1| TR N
33.81 34.39 34.42 35.83 36.06 38.55 39.78 40.67
o 7N BE | 2 BAX £E |3 EBHA Ot
100m | KB 1T 1 EET 1
1:13.14 1:13.96 1:15.27
T 7 HW KB |2 BN BFE |3 WHE EE | 4 RF HRE |5 BX BB |6 HA £X | 7 P HN | 8 Be EE
50m Fxh 1| FEH N6 | B FF T 1| KA fi1 O 1| KSE 1 |EAmh AT NG
34.18 36.99 37.62 38.49 38.61 38.64 38.88 39.33
T 7 OBW AR |2 BN BE |3 RF RE |4 NK &£ |5 BA EH |6 k¥ —8E | 7 wiEA $wE | 8 EH #HH
100m  |FKkT 1| TR N6 | KEER PNt M=k B llaH /N6 | BT T 1A 1
AS%  1:13.89 1:21.01 1:21.32 1:22.05 1:22.99 1:25.13 1:26.95 1:27.02
a4 | ! Ee B | 2 EH BEW |3 W BX |4 A& BK |5 FE EX |6 TH KT |7 KEEBKX |6 WA R
50m il 1| TR 1| 1| EET NPT e LA /N6 |E T /6| TR H1
27.70 29.47 31.21 31.40 31.48 31.99 34.42 36.05
Naosq | 1 BB B | 2 & =k |3 N BEX |4 M W |5 AA BK |6 LKE BK |7 AN x| 8 BA EHi
100m  |BAFFTH 1| KA /N6 | BT i |EAmth i1 | EEH INEL:L INEL:L a4l NG
AS¥H 10143 1:09.86 1:10.45 1:13.09 1:13.40 1:18.78 1:19.47 1:20.49
BAARL— | | RENHK | 2 HX BE |3 KK -8B |4 #E LD |5 WE RM | 6 AN Bhx| 7 B BE | ¢ MWl £
200m |EFET 1| BT th|lidm /N6 | WWBS/NEFET /N5 | FES CANER:D N EETT N6 | KEEB NG
2:37.62 2:40.21 2:42.69 2:43.55 2:54.95 2:56.30 3:07.12 3:12.23
Fe4EIL O BB KIKBEAR UaZ7BEBF
3 FesmAbEREMNKKEBHRKESEEFEES 2016458 8H woEssiERaAEKKT—IL
J—NLarvT4ar5888 0900 XKiEEEh  =iB:25°C 7Ki8:28°C
5A8H 13:00 X{EEh - =ER:25C 7kig:28°C
o 7OBE &R |2 EREZN |3 BH BEK |4 1l BE |5 AHMAER# |6 MT BEA| 7 K EC | ¢ AN HK
50m AET N EET a4l N3 UYNEL:I N4 |FRT N EET N3 |FERTH N3
35.78 36.55 36.99 37.08 37.18 37.77 37.91 38.36
s 7OkEE BE |2 BN #E | s TH RS (¢4 B OR# |5 B ES |6 RN BT |7 FHEA K| s BN =R
50m BEM Y=k N3 | BT M| EETH N | EETT L Edilic) N3 | BT N BT N2
40.39 40.99 41.92 45.90 47.07 51.85 53.45 56.27
T 7ol EE |2 BN #E |3 BH AKX |4 EE B |5 Lh BS |6 EE BRI | 7 LKE Rt | 8 FH BE
50m T} Y=k N3 LATH N3 EET M| EETH N3 |EmTh N B ET N3 | EmT Y
47.92 50.39 51.23 51.27 53.27 53.96 58.03 59.38
Nao54 | ! %k BE | 2 EREZN |3 AW EX |4 HE RK |5 &N B} | 6 K ERH | 7 NE KB | 8 B BEK
50m EET N IEETT N IEET N3 | BT N | TFET N IEET N3 FET N LaT N3
34.78 39.05 42.14 42.20 44.85 44.91 45.00 45.05
BAARL— | 7 TE EH |2 THE RE |3 ABMAEXth | 4 XE BB |5 MT EA| 6 FH OFEE
200m |BEET™ 4| B I |ERETH YAPN-E: IN3|FRTH N |EET M
3:12.23 3:19.75 3:21.26 3:25.76 3:35.94 3:48.54
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7 ONHE EBE |2 £H XL |3 M FRE | 4 ELK 8 | 5 RERRE| 6 FH BF 8 HEfE BE
o B WA o | EE 3| IO 3 | EE 2| ER 3 woh &3
B 27.05 28.84 29.08 29.14 29.41 29.51 29.76
50m 6 EE WE
e i
29.51
R 7O ONE BE |2 BE BKE |3 Mt EF | 4 £H £ | 5 BW OEE |6 FH WBF |7 M FHRFT | ¢ @R LE
100m o 1| T =2 |Amh 3| BT s2 [ILEE/NEFE™ F3|FEH f3 | EET 3| libm =3
58.76 1:00.56 1:01.55 1:02.22 1:02.79 1:03.81 1:04.40 1:05.54
Em 7T BE BE |2 WRE HL |3 BN E¥E |4 Nt EF |5 EE Bk | 6 WRE X | 7 @k &E8 | & oF EW
200m | FE™ 2| 8EH tho | ILG/NEFET™ =3 |EfTh &3 |BhRF =3l 2|k &2 |Erh 2
2:07.82 2:12.76 2:12.94 2:13.13 2:18.94 2:19.71 2:26.11 2:30.97
B 7ORR $E |2 EB BIKR |3 RE BX |4 FRREF |5 ZHR BMF |6 KR B |7 TNNED | 8 HTF BE
400m |BEM 2 | B RF =R =k E2(ah =2 |Emh 2|k ==k =3 |EET $3
4:40.97 4:45.73 4:48.73 4:50.27 4:50.97 4:57.13 4:59.04 4:59.91
P 7T HRREF |2 KR B |3 =M WE |4 HF BE |5 BEA BEF | 6 BENELE | 7 BHERETF | 8 =B mE
s00m  |[WAT 2|k &1 |Eh th2 EEH 3|l O &=3|Ah th3 |Fkh th3 | TR 1
9:50.30 9:50.47 9:54.72 10:02.27 10:09.35 10:12.38 10:48.32 10:55.67
e 7 WUT %#E | 2 MEMNAMETF |3 KR EE | 4 MR RE |5 GBS | 6 HBFN E£FE | 7 AHWLRAF| & ®RIIHSVD
100m | FE™ —f| EETH &3 & th3 [ EEH t2|llOm =3|AT th2 |FETH 2| TE® 3
1:05.50 1:06.03 1:07.93 1:08.44 1:09.78 1:10.25 1:10.74 1:11.00
o 7OMERAETF |2 WT RE |3 KR BEE | ¢4 #HR X2 |5 ®RIHIV | 6 RNILELF | 7 HBEHN xFT | ¢ HAL B
200m |BETM B3| TEW — | FTH 3| EET th2 | FEA™ 13| FEBH =pAl =k 2 | EEH =2
2:19.26 2:19.36 2:26.75 2:29.13 2:31.70 2:35.84 2:39.44 2:44.85
T 7 BA FE |2 K BF |3 RA AP
50m i =2 | EaET =2 | RMH 2
40.44 43.27 1:01.57
TE 7 BH HE |2 AKX B |3 WT B |4 BAX MR |5 B FTE |6 A EBF |7 ®E BEA | 8§ #HFRIS
100m g S1|uam =2 | BT =1 Lad &2 |ErH X2|hAT th2 LA =1 |BAFh 3
1:16.58 1:16.75 1:17.58 1:18.10 1:18.89 1:18.90 1:20.67 1:20.72
T 7T BH HE |2 £E ERA |3 BAX UK |4 WT HH |5 B FTE | 6 #HMFRNKS| 7 #AK B | 8 ™A ¥BF
200m  |FTH &1 8EH ==k th2 | FRIT =1 |Amh K2 |BrRFth th3 LA 2|l 2
2:40.72 2:42.42 2:43.35 2:43.63 2:52.58 2:52.79 2:52.94 2:53.39
"ao54 | ! A £/ | 2 B =2F | 3 B BEX
50m Bt th2 | EETH &3 |Erh th2
32.40 32.89 34.04
BT 7 BRWREE | 2 RO YK |3 LEFHIH | 4 KB EF |5 BN BE | 6 RKFE EZ | 7 WA EL | & AH FF
100m [T =1 |aEH th3 O E3|Lam &3t B2 | EAm th3 L =3 |BAFh 2
1:04.35 1:05.17 1:05.46 1:05.66 1:08.33 1:10.84 1:15.06 1:17.11
NETSA 7 BRWRIEE | 2 XKE EE | 3 LEFPI3%G | 4 KO YFR | 5 KFE EZE
200m  |HTH S1luom Z3lLom B3| aET F3 | AT th3
2:21.42 2:23.22 2:24.13 2:29.39 2:33.30
BAARL— | ] AR BE |2 €% FEA |3 BH BR |4 kAKX §F |5 BHEEVIL| 6 FEREEREF | 7 o XH | 8 REH £F
200m |AEM® B2 |EET A Z1|wo t3 | ILB/NFET th3|EEH t2 (L0 d2(lLOwH 2
2:24.20 2:25.64 2:27.90 2:32.72 2:34.69 2:37.61 2:39.21 2:41.99
BAARL— | 7 BE BX |2 AHF BR |3 BREEAIN| 4 BH XK | 5 RE EXE
400m EET =2 |xh B1|WE/NEET h3(luOm 2 lhAam t2
5:06.17 5:11.70 5:24.06 5:31.54 5:33.14
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5888 1300 X{R:EEh =;8:25°C 7ki8:28°C
R 7RI —¥ |2 BROHBE |3 BEAXNS |4 Bl FF |5 EH KkE |6 R Mk | 7 AE BF |8 EAX ER
50m FHh i | E5EH N6 | B mTH ING | FRTH filuOwh INEL:L /N6 | EmTH NG| ST H1
28.83 29.97 30.06 30.30 32.17 32.83 33.01 33.26
o 7RI —F¥ |2 BN WY |3 FH RE |4 FEASXS |5 fEH E |6 BHEH FK | 7 ROHNHEF | ¢ EH BH
100m  |FKH th |Fkh 1| TR i |EAmth UNEL I th1 | TR 1 BB /N6 | B mTH i1
1:03.20 1:04.66 1:05.44 1:06.52 1:08.66 1:08.89 1:09.22 1:09.94
7 OFHERTE | 2 HBF WY |3 B B |4 Bx BE |5 EH BH | 6 FH B 7 R¥ £k | 8 #%EE BT
TR 1 |k 1| 1 |ErE EEL:D d1 | FRA™ f1|EEH e | EET N6
=)::5i 2:18.93 2:23.19 2:25.47 2:25.89 2:26.31 2:32.03 2:36.25 2:38.48
200m 8 Bk EiE
Bmm N5
2:38.48
s 7ML EE |2 Shh B |3 TREAX |4 HH HE |5 BB XB |6 N KRE |7 AN BEHE |8 HLE BN
50m BT 1| B N5 | KEEB N5 |EmTH 6| TR CNER:D 1 |FETW N6 |EmTH N6
3353 33.65 35.26 35.28 35.55 35.75 36.26 39.51
o TOBH Fa |2 U EF |3 FH ER |4 Il FHF |5 BE KXW |6 R KE | 7 AN BEHK | 8 HEH HE
100m FrRFTH 1 | EEH thi | TR th |k thi | TR th1 |ERgH i1 |FEBTH N6 B mTH N6
1:10.05 1:13.12 1:14.34 1:16.35 1:16.99 1:17.14 1:17.30 1:18.04
Tk ] OCSRERELZ |2 BEH SF |3 AH tE |4 AU RF |5 WA KW |6 WO BE | 7 o BE | 8 ARFELR
50m Emh 1| FEH 1| TR N =k f1 [ EEH N5 | TR N5 |EmT o1 |BFRF T i1
39.84 40.47 40.86 41.05 43.09 43.16 4351 4357
T 7 OSHERES |2 BH BF |3 WA &KW | 4 ANXEXR |5 WO BE |6 AE BEF |7 thF B |8 BL EH
100m |AmTH 1| TR 1| EEH INS | B RF T th1 | FEA™ N5 | TR /N6 |EmTH o |ILFs/NEFER T dhd
1:27.66 1:28.29 1:32.96 1:33.52 1:33.58 1:34.93 1:35.36 1:35.97
Nao54 | ! Rih EH#t | 2 b FS |2 A0 MEF |4 BN ER |5 NEH BEF |6 ®WFER E |7 ®LU E | 8 L BEBL
50m KEE 1 |FAmTH 1| TR INEL Il UNNEL:Ii INEL:L N6 |FERTH NG B E T NG
29.73 31.69 32.86 33.71 35.71 36.27 36.39 36.41
Nao54 | ! Kih EH | 2 BN BER |3 Nt S |4 A0 NEF | 5 BARGEEEF |6 =N CER | 7 #LU O E | 8 I EH
100m |KSE 1 |FETH 1 |EAmTH 1| FEH /N6 | KEER th |ERE™ NG |FERTH N5 | TR N6
1:05.35 1:10.75 1:11.21 1:12.24 1:14.22 1:17.29 1:23.11 1:30.41
BAARL— | Bheh fEE | 2 BRHERET |5 & BHE |4 BAH k£ |5 LEP B | 6 €K R
200m |EFET™ NG | KEER 1 |FETH =k NIE=IE N E={E ) H1
2:39.00 2:39.93 2:40.57 2:54.52 2:57.80 3:05.21
64 1L O R KKBRERE oaZT7B&F
3 FesMAEREMNIKKEBHKESEEFEES 2016558808 IO EsoEEELRKKT—IL
J—lLarT4L3:5888 0900  KiE:EEh =;8:25°C JKi8:28°C
588H 1300 X{&:EEh =;8:25°C 7K:8:28°C
o 7OIA M |2 WK BE |3 kB EF |4 #HF Bk |5 BHEEHYD | 6 BR TLX |7 BB Z | 8 HH &H
50m AXBE N BT N EETT IN | FERT M| TR N BT A=k NVAES: i) N4
34.44 36.64 36.88 37.21 37.73 37.84 38.09 38.55
o 7OEM LB |2 LR B |3 B XF |4 FHL FE |5 BO BIK |6 BA BB |7 FEHE LK | 8 PR OEK
50m WkS/NEFE™ /N |FAfET M| EETT N | TR M| BERET \YAPN=E Y N3 |EmT NS | BRI N3
39.87 40.96 41.80 45.23 4757 48.74 49.12 50.10
T 7 OBEA EX |2 AHE %R |3 FHRIEEK |4 KK BE |5 BF EX |6 &R BN |7 8 EB | 8 Kk #x
50m Emh N FET N BT N3 | FEET N FET NlAT N3 |FRTH N | TR N3
47.08 47.16 50.42 51.39 51.66 51.74 53.15 55.95
Nao54 | ! IA M | 2 A BT |3 wHENEE| ¢4 8B E |5 A % | 6 Ml otk | 7 WEF &HE | 8 EO BF
50m ABE N BT AL N3O M| BT N KEER N | BRRFT N3 |BAAFTH Y
39.37 42.12 43.82 44.38 45.48 45.88 4797 49.10
BAAL— | ] B DB | 2 LUK BE |3 BN EF | ¢4 BIREHD | 5 ML 12K | 6 FHLE HE | 7 Bk BE
200m WkS/NEFR™ /N |EfET M| FEmET N | TR YN =S N | BT M| ErT N3
2:57.79 3:11.48 3:13.11 3:24.16 3:24.73 3:42.60 3:43.64




